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I. Answer the following questions in one or two words.   4 x 1 = 4M 

1. The best measure development till today  ______________________ 

2. India rank in HDR 2013  __________________________________________________ 

3. Find the odd one : IMR, Literacy rate, Per capita Income, Net attendance rate 

4. Expand PDS __________________________________________________________ 

II. Answer the following questions in one or two sentences.   2 x 2 = 4M 

5. Write the components in Human development Index? 

6. Plat the bar graph based this table. 

 

 

 

III. Answer the following questions in four sentences.    1 x 4 = 4M 

7. What main criterion is used by the World bank in classifying different countries? What are 

the limitations of the above criterion, if any? Write the classification. 

IV. Answer the following question in eight sentences.    1 x 8 = 8M 

8. Draw a bar graph based on the following table and write your observations. 
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